AP® MACROECONOMICS
2015 SCORING GUIDELINES

Question 1

10 points (2+1+2+3+2)
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(a) 2 points:
e One point is earned for drawing a correctly labeled graph showing AD, SRAS, Y, and PLs.
e One point is earned for drawing a vertical LRAS at Y; to the right of Y;.

(b) 1 point:
e One point is earned for stating that the Federal Reserve should target a lower federal funds rate.
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(c) 2 points:
e One point is earned for drawing a correctly labeled money market graph.

e One point is earned for shifting the money supply curve to the right and showing a decrease in the
nominal interest rate.
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Question 1 (continued)

(d) 3 points:

One point is earned for calculating the minimum required change in government spending:

$60 billion ($300/5=$60).

One point is earned for stating that the minimum required change in taxes will be greater than the
minimum required change in government spending.

One point is earned for explaining that the tax multiplier (mpc/mps = 0.8/0.2 = 4) is smaller than
the government spending multiplier (1/mps = 1/0.2 = 5) because part of the initial increase in
disposable income caused by the decrease in income tax will be saved rather than spent.

(e) 2 points:

One point is earned for stating that aggregate demand will increase and for explaining that lower
income tax rates will increase disposable income and/or consumption and investment.

One point is earned for stating that long-run aggregate supply will stay the same because lowering
income taxes will increase consumption and/or investment, or there is no change in inputs.

OR

One point is earned for stating that long-run aggregate supply will increase in the long run because
lowering taxes will increase savings and investment in physical capital, or because of increased
incentives to work.

OR

One point is earned for stating that long-run aggregate supply will decrease in the long run
because lowering taxes leads to a crowding out of private investment.
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ANSWER PAGE FOR QUESTION 1
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AP® MACROECONOMICS
2015 SCORING COMMENTARY

Question 1
Overview

The question addressed the monetary and fiscal policy responses to a recession. Part (a) asked students to
use the aggregate supply and demand model to graphically show an economy in recession. Part (b) asked
whether the Federal Reserve should target a lower or higher federal funds rate in response to the recession.
Part (c) required students to draw the money supply and demand model to show the effect of the monetary
policy identified in part (b) on the nominal interest rate. In part (d) students were directed to calculate the
minimum change in government spending necessary to close a given recessionary gap and to explain
whether the minimum change in taxes necessary to close the same gap would be larger or smaller than
the calculated change in government spending. Part (e) asked students to explain the effect of a decrease
in income tax rates on aggregate demand and on long-run aggregate supply.

Sample: 1A
Score: 10

The student answered all parts of the question correctly and earned all 10 points.

Sample: 1B
Score: 7

The student did not earn 1 point in part (d)(ii) for failing to explain correctly that the tax multiplier is smaller
than the government spending multiplier. The student did not earn 1 point in part (e)(i) for failing to explain
correctly why the aggregate demand curve will increase. The student did not earn 1 point in part (e)(ii) for
failing to explain correctly why the long-run aggregate supply will stay the same.

Sample: 1C
Score: 4

The student earned 1 point in part (a)(i) for drawing a correctly labeled graph showing aggregate demand,
short-run aggregate supply, Y: and PL;. The student earned 1 point in part (a)(ii) for drawing a vertical long-
run aggregate supply curve at Y; to the right of Y;. The student earned 1 point in part (c) for drawing a
correctly labeled money market graph. The student earned 1 point in part (d)(i) for calculating the minimum
required change in government spending, $60 billion.
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